
SAP ABAP table COBHIE_TREE {Cost Object Hierarchy - Hierarchy Nodes}

COBHIE_TREE

COSTOBJECT [CHAR (12)]

MATERIAL [CHAR (18)]

PLANT [CHAR (4)]

PROCUREMENTPROCESS [NUMC (12)]

ORDERID [CHAR (12)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)] COBHIE_TREE-ORDERID = AUFK-AUFNR 0..N

0..N

CKHS

MANDT [CLNT (3)]

LEDNR [CHAR (2)]

BZOBJ [CHAR (1)]

KALNR [NUMC (12)]

KALKA [CHAR (2)]

KADKY [DATS (8)]

TVERS [NUMC (2)]

BWVAR [CHAR (3)]

KKZMA [CHAR (1)]

 COBHIE_TREE-PROCUREMENTPROCESS = CKHS-KALNR 0..N

0..N CKPH

MANDT [CLNT (3)]

KSTRG [CHAR (12)]

DATBI [DATS (8)]

 COBHIE_TREE-COSTOBJECT = CKPH-KSTRG 
0..N0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 COBHIE_TREE-MATERIAL = MARA-MATNR 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 COBHIE_TREE-PLANT = T001W-WERKS 

0..N

0..N


